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— uniform
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Curvature of path
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Cylinder in uniform electric field

D
Del operator
— geometric interpretation of
Determinant
— Product rule for
— Properties of
Diagonal matrix
Diffrential, exact
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Direct product

Directional derivative

Dirichlet exterior problem, for circle

for sphere

Dirichlet interior problem,

Dirichlet’s conditions
- Divergence®

Divergence theorem

E
Eigenfunction expansion
Eigenvalue
energy
multiplicity of
Eigenvalue equation
Eigenvalue problems

Eigenvector

Elliptical integral of the first kind

Entire functions

Equality; parseval’s

Equation, cauchy — Riemann
— of charge conservation
— of continuity
— of diffusion
— Fuler
— of heat transport

— Helmbholtz’s

— of motion, in an elastic solid

— for a fluid

— in a gas
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Equipotential lines

Euler equation

Euler — Mascheroni constant
Evaluation- of integrals by residues

Exact differential

Expansion, by cofactors
— of function in Taylor series
—in spherical harmonics
— of vectors

Expansion coefficient

Expansion theorem

Exterior Dirichlet problem

F

Factorial function
Faraday’s law
Field scalar

Field vector

Finite integral transform, applications of

Cosine transform
Sine radiation transform
sine transform
Fluid flow, on a curved surface -
in a plane
Flux
Fourier analysis and synthesis
Fourier series, complex form
Fourier transform, applications of
éondition for applicability

Convolution theorem
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of derivatives

of indefinite integrals
infinite — range
integral theorem

inversion theorem

in n dimension

Physical interpretation

sine and cosine transforms

Function, analytic
Bessel
beta
entire
factorial
Hankel
harmonic
Hermite polynomials
hyperbolic Bessel
integrable
Legendre polynomials
Linear independence of
multivalued
Neumann
orthogonal
regular
spherical Bessel

spherical harmonics

G
Gauss’s law

General solution,
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Generating function,
for Hermite polynomials
for Legendre polynomials
Gibbs phenomenon

Gradient, of sealar field

Green’s functions
for a point charge
for a line source
for a point source

Green’s second iden. . ..

H
Hankel functions
Hankel transform
Harmonic function
Harmonic oscillations
Helmbholtz equation
in cylindrical coordinates
dipole radiator
double layer
integral solution
in rectangular cartesian coordinates
in spherical coordinates
Hermitean conjugate matrix

Hermitean matrices,

1
Images
Inpedance boundary condition

Indicial notation
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Inequality, Bessel’s

Infinite series, conditionally convergent

differentiability
integrability
tests for convergent
uniformly convergent
Initial — value problem
Inner product
Integrable function

Integral transform

Integrals of discontinuous function

Integrating factor

Integration of orthogonal expansions

Inverse matrix
Inversion theorem
for Fourier transform

for Laplace transform

K

Ket vector

Kinematics, of a line integral
of a surface integral

of a valume integral

L

Laplace development

Laplace transform, advantages
applications
computation

convolution theorem
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- of derivatives
of an integral
inversion theorem
properties

-relation to Fourier transform

Laplace’s equation, in cylindrical coordinates

_solution of in polar coordinates

in spherical coordinates

Laplacian:

Laurent series

Level curves

Limit in the mean

Line, equipotential

Line curl

Line discontinuities

Line divergence

Line gradient

Linear differential equations
characteristic equation
characteristic roots
complementary function
with constant coefficients
homogeneous
inhomogeneous
linearly independent solutions
particular integral

" reduction to-quadrature

repeated roots

series solutions and special functions

Linear differential equations
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Linear independence, of functions
of vector

Linear operator
geometric interpretation

Liouville’s theorem

Lipshitz integral

M

Mass, conservation of
complex
conformable
diagonalization

equality of
Hermitean, special properties of
nuil
partitioned
Matrix
adjoint
cofactor
diagonal
elements
Hermitean conjugate
inverse
rank
unit
Matrix addition
Matrix equation, homogeneous
inhomogeneous
Matrix multiplication

Matrix operations
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Matrix product

Maxwell’s equations

Measure theory .

Minor

Modulus

Moments of Legendre polynomials

Multivalued function

N
Neumann boundary condition
Neumann functions

Normalization condition

0

Operator, Hermitean-
orthogonal
reflection
rotation

self — adjoint
Orthogonal functions

Orthogonality relations

for associated Legendre polynomials

for Bessel functions

for Hermite polynomials

for Legendre polynomials
for spherical Bessel functions

for spherical harmonics

for Sturm — Liouville eigen functions

Orthonormal basis

Orthonormal set of functions
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Parseval’s equality

Parserval’s theorem

Partial differential equations
the diffusion equation
Laplace’s equation
Poisson’s equation
role of the Laplacian
the wave equation

Partial vector differentiation

Particle trapped in potential well

Piecewise — continuous function
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